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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1- The new economic policies threaten to ---------- the health care system.

1) trigger 2) denote 3) assimilate 4) undermine
2- The map clearly -----=---- the boundary between Turkey and Iragq.

1) conducts 2) intrudes 3) delineates 4) withdraws
3- A rise in interest rate and inflation would severely ---------- economic growth.

1) depart 2) retard 3) predispose 4) mistreat
4-The expression “full moon” means the 14" day of the moon ---------- from its first

appearance.

1) propelled 2) reckoned 3) proceeded 4) stimulated
5-In many countries, doctors have traditionally enjoyed high social ---------- :

1) status 2) arena 3) circumstance 4) disposition
6- Her strict -====ee-x to the diet caused her to lose a lot of weight in one month.

I) adherence 2) incentive 3) presumption 4y accumulation
7- Constant argument caused angry ---------- that brought an end to the peace talks.

1) deviation 2) discord 3) diffusion 4) discrimination
8- Careful ---------- of the company’s accounts revealed a series of errors.

1) conformity 2) procedure 3) scrutiny 4) contradiction
9- Unfortunately this diet is ---------- in vitamin A.

1) exposed 2) incompatible 3) antecedent 4) deficient
10- They showed a very ---------- lack of gratitude to those who had helped them.

1) indecent 2) marginal 3) differential 4) impotent

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

Water which has fallen as rain is disposed of in three ways. Some of it evaporates, with the
help of the sun and wind, and returns to the atmosphere. Some gathers to form a stream.

(A1) ——— sinks into the soil, but much of it appears again in_Springs and finds its way to the
surface streams. (12) -----—-—- is this water from springs that keeps rivers flowing long after the
rain has stopped. Melting snow and glaciers are other sources of river water.

The streams formed in all these ways join to form rivers (13) ------eee- they are the
tributaries. The area of land from which the water of a river and its tributaries \is_drawn
(14) - the basin of the river. Some rivers have very large basins while others of (15) -—--
drain much smaller basins. Thus although the Nile and the Amazon are about the same length,
the basin of the Amazon is more than twice as big as that of the Nile.

11- 1) Another 2) Water 3) The rest 4) The other
12- 1) There e 2}:11 3) What 4) If this

13- 1) which ~772) that 3) in that 4) of which
14- 1) to call 2) calling 3) is called 4) being called
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15- 1) equal length 2) lengthy equal 3) lengthy equally 4) equally lengthy

‘ Reading Comprehension

Directions: In this section you will read three passages which are followed by
| five questions about the given text. For questions 16-30, you are to choose the
| best answer to each question, marked (1), (2), (3), and (4).

Passage 1

When each work group arrived at an acceptable plan, all
participants reviewed the three proposals for the use of vacant
properties in downtown Gibson. Each plan was presented by a
community member, and major disagreements were discussed in
order to advance the prevailing viewpoints. The two controversial
issues were the best Tocation for the restaurant and the disposition
of an old barn situated in the downtown area. Two groups
proposed that the vacant fire station was the best location for the
restaurant because it afforded\ample parking spacé and provided
the possibility of outdoor eating. Their position was not easily
contested: after considerable site analysis by the planning team, the
decision was made to locate the restaurant in the fire station which
was owned by the town and donated to the local community
development corporation. With the aid of a private grant, a
member of the community agreed to assume responsibility for
managing the restaurant, which is presently in operation.

16- At what stage did all participants review the proposals?

1) When the vacant properties were proposed.

2) When the three participants gave their proposals.

3) When each work group came up with a plan.

4) When all groups provided three proposals.

17- What was the major discussion abput?

1) The situation of the project in the downtown area.

2) Difficulty between community members.

3) The order of prevailing viewpoints.

4) The controversy about locating the restaurant.

18- What were the two reasons for the proposed restaurant location?
1) Ample parking space and available food.

2) Vacant fire station and its downtown location.

3) Outdoor parking space and the outdoor eating.

4) Parking and the possibility of outdoor eating. .
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19- Who did own the fire station?

1) The town. 2) The planning team.

3) The development corporation. 4) The restaurant.

20- Who will manage the restaurant?

1) A member of the community. 2) A private corporation.
3) A responsible manager. 4) A present operator.
Passage 2

A neighborhood is at best a grouping of residential clusters
around shared open space. It should be small enough to encourage
participation of all families in group activities and large enough to
contain a convenience-shopping center, playfields, and buffering.
An enduring neighborhood plan and one that has accommodated
changing concepts of social béhavior and education is one formed
around and providing safe walkway access to an eiementary school.
In size and population it is shaped to yield or contribute to the
approximate number of students required for a balanced school
facility. It is not essential, however, that either the school, shopping,
or other shared amenities be centered within the singie
neighborhood confines. It is often more desirable that they be
placed outside or between sub-neighborhood enclaves of varying
character and size and be laced together with interconnecting
greenways, walks, and bicycle trails.

21- A neighborhood is concerned with:

1) Shared open spaces. 2) The best group of spaces.
3) Residential clusters. 4) Residential open spaces.
22- A neighborhood’s size ought to be:

1) Small enough to encourage families.

2) Small enough to contain families’ activities.

3) Large enough to prevent shopping.

4) Large enough to encourage playing.

23- An enduring neighborhood plan provides:

1) Challenging concepts. 2) Round forms and elementary schools.
3) Social and behavioral education. 4) Safe walkway to school.

24- What dose determine the size and population of a neighborhood?

1) The number of students. 2) The size of schools.

3) The shape of the community. 4) The approximate number of faculties.
25- Where is the most desirable location for schools, shops and shared amenities?
1) In the center of the neighborhood. 2) Between sub-neighborhood enclaves.
3) In the greenways. 4) Outside the city.
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Passage 3

Diagrams can represent the essence of a design. Visualizing
context in its differentiated parts in diagrammatic form enables the
designer to generate form during the analysis phase. Diagrams in
design are the spatial equivalent of diagrams in grammar, the
language study dealing with word forms. The graphic language of
the designer is a system, like grammar, of shapes and their order or
structure, outlined according to the relationship of working parts.
Diagramming is a method that assists in distinguishing things from
form; and, helps describe the patterning, differentiation, and
evolution of that form.

Kevin Lynch popularized the use of the semi-abstracts to
abstract diagrams in Irmage of the City (MIT 1960), with the visual
form notations, using symbols to represent path, edge, node, district,
and landmark. Planning and design students use his techniques as
beginning efforts to spatially understand neighborhoods and city
districts. Symbols are combined with value shapes to indicate built
form. They are referenced and oriented with scale, direction, and
“street grid. Absent are detailed forms, filtered out due to his edge-
district-node focus. Such diagrams are extensions of the
conventional land use bubble diagram.

26- In what way does the visualizing context enable the designer to generate form?

1) In diagrammatic form. 2) In different parts.

3) During the analysis phase. 4) In a differentiated way.

27- According to the passage, diagrams in design are similar to diagrams in grammar,
because:

1) They deal with words. 2) They are equivalent graphically.
3) They use similar graphic language. 4) They use structural shapes.

28- According to the passage, diagramming is described as a method that:

1) Describes things. 2) Differentiates between things and forms.
3) Combines the things with the forms. 4) Designates form.

29. What was the most valuable contribution of Kevin Lynch to the students of design

and planning?

1) He wrote the first book on the subject of city planning.

2) He was the first introduce the use of semi-abstract and abstract symbols.

3) He introduced a technique to provide an understanding on the subject of
neighborhoods and city districts.

4) He undervalued the importance of path, edge, node, district, landmark in a city.

30- The built form is an indication of:

1) Detailed forms, filtered out due to edge-district-node focus.

2) Scale, direction, and street grid.

3) Extension of the conventional land use.

4) Symbols and value shapes.
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